
y dσηc/dσJ/ψ
2.0 - 2.5 0.96± 0.22± 0.07± 0.03± 0.09
2.5 - 3.0 1.65± 0.27± 0.11± 0.05± 0.16
3.0 - 3.5 1.36± 0.30± 0.08± 0.04± 0.13
3.5 - 4.0 1.29± 0.62± 0.07± 0.04± 0.13
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LATEX was unable to guess the total number
of pages correctly. As there was some unpro-
cessed data that should have been added to
the final page this extra page has been added
to receive it.

If you rerun the document (without alter-
ing it) this surplus page will go away, because
LATEX now knows how many pages to expect
for this document.


